JOINT PURCHASING COUNCIL - 2022 Turf Chemicals and Seed Final Bid Tabulation Bid Open - December 13,2021

Awarded vendors are in yellow. Rejected bid items are in red due to not meeting specifications. All prices are good until 9/30/2022

HERBICIDES

2	RoundUp Weathermax Herbicide					
,	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	[ALT1] Van Diest Supply Company	190	gallon	\$33.80	\$6,422.00	Round Up Pro Concentrate
	[ALT1] SiteOne Landscape Supply	190	gallon	\$42.68	\$8,109.20	Roundup Pro Concentrate
	[ALT1] C.D. Ford and Sons Inc.	190	gallon	\$50.00	\$9,500.00	Killzall II Super Concentrate 41%
	[ALT1] REAMS Sprinkler Supply (Heritag	€ 190	gallon	\$50.6668	\$9,626.69	RoundUp Pro Concentrate, Glyp
	REAMS Sprinkler Supply (Heritage Land	sı 190	gallon	\$50.668	\$9,626.92	
	SiteOne Landscape Supply	190	gallon	No Bid		
	D & K Products (Century Homes Compa	r 190	gallon	No Bid		
	Advanced Turf Solutions, Inc	190	gallon	No Bid		
	Midwest Turf Support, LLC	190	gallon	No Bid		
	Clesens (Clesen Holdings LLC)	190	gallon	No Bid		
	Contract Specialty	190	gallon	No Bid		
3	Casoron G-4					

Casoron G-4					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
[ALT1] Van Diest Supply Company	26	bag	\$65.00	\$1,690.00	Casoron 4G 25 lb Bag
D & K Products (Century Homes Compar	13	bag	\$142.80	\$1,856.40	
Advanced Turf Solutions, Inc	13	bag	No Bid		
Midwest Turf Support, LLC	13	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands	13	bag	No Bid		
SiteOne Landscape Supply	13	bag	No Bid		
Clesens (Clesen Holdings LLC)	13	bag	No Bid		
Contract Specialty	13	bag	No Bid		

4	Treflan	TR-10
---	---------	-------

4	Helian IIV-10					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	[ALT1] D & K Products (Century Homes (C 42	bags	\$27.50	\$1,155.00	Treflan 5G 40 lb bag
	Van Diest Supply Company	33	bag	No Bid		
	Advanced Turf Solutions, Inc	33	bag	No Bid		
	Midwest Turf Support, LLC	33	bag	No Bid		

	REAMS Sprinkler Supply (Heritage Lands	33	bag	No Bid		
	SiteOne Landscape Supply	33	bag	No Bid		
	Clesens (Clesen Holdings LLC)	33	bag	No Bid		
	Contract Specialty	33	bag	No Bid		
	D & K Products (Century Homes Compar	33	bag	No Bid		
5	ProDeuce					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compar	50	gallon	No Bid		
	Van Diest Supply Company	50	gallon	No Bid		
	Advanced Turf Solutions, Inc	50	gallon	No Bid		
	Midwest Turf Support, LLC	50	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	50	gallon	No Bid		
	SiteOne Landscape Supply	50	gallon	No Bid		
	Clesens (Clesen Holdings LLC)	50	gallon	No Bid		
	Contract Specialty	50	gallon	No Bid		
			Ü			
6	Vessel					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compar	180	gallon	\$18.83	\$3,389.40	
	Van Diest Supply Company	180	gallon	\$19.80	\$3,564.00	
	Clesens (Clesen Holdings LLC)	180	gallon	\$22.88	\$4,118.40	As Specified
	Advanced Turf Solutions, Inc	180	gallon	\$33.03	\$5,945.40	ArmorTech Threesome, Same
	Midwest Turf Support, LLC	180	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	180	gallon	No Bid		
	SiteOne Landscape Supply	180	gallon	No Bid		
	Contract Specialty	180	gallon	No Bid		
7	Aquamaster					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Des
	[ALT1] Clesens (Clesen Holdings LLC)	25	gallon	\$33.54	\$838.50	RoundUp Custom- As Specified
	[ALT1] Van Diest Supply Company	25	gallon	\$35.40	\$885.00	Rodeo
	Advanced Turf Solutions, Inc	25	gallon	No Bid		
	Midwest Turf Support, LLC	25	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	25	gallon	No Bid		
	SiteOne Landscape Supply	25	gallon	No Bid		
	D & K Products (Century Homes Compar	25	gallon	No Bid		
	Contract Specialty	25	gallon	No Bid		

8	Aquasweep						
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	
	Clesens (Clesen Holdings LLC)	20	gallon	\$34.80	\$696.00	Loveland- Chaser2 Amine- As Sp	
	D & K Products (Century Homes Compar	20	gallon	\$45.40	\$908.00		
	Van Diest Supply Company	20	gallon	\$54.50	\$1,090.00		
	SiteOne Landscape Supply	20	gallon	\$69.50	\$1,390.00		
	Contract Specialty	20	gallon	No Bid			
	Advanced Turf Solutions, Inc	20	gallon	No Bid			
	Midwest Turf Support, LLC	20	gallon	No Bid			
	REAMS Sprinkler Supply (Heritage Lands	120	gallon	No Bid			
9	QuickSilver TO						
,	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc	
	D & K Products (Century Homes Compar		pint	\$149.30	\$597.20		Doesn't meet spec
	[ALT1] Van Diest Supply Company	8	8 oz bottle	\$128.50		Quicksilver T & O	
	[ALT1] Clesens (Clesen Holdings LLC)	8	bottle	\$160.00		QuickSilver T&O- 8oz. Bottle	
	[ALT1] Advanced Turf Solutions, Inc	8	80Z	\$195.08		QuickSiler T&O, a.i. Carfentrazo	
	SiteOne Landscape Supply	4	pint	\$433.16	\$1,732.64		
	Contract Specialty	4	pint	No Bid	. ,		
	Midwest Turf Support, LLC	4	pint	No Bid			
	REAMS Sprinkler Supply (Heritage Lands		pint	No Bid			
10	Barricade 4 FL						
. 0	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc	
	[ALT1] D & K Products (Century Homes (gallon	\$63.55		Resolute 4 LF 4 x 1 gallons	
	[ALT1] Van Diest Supply Company	40	gallon	\$66.65		Prodiamine 4L	
	[ALT1] C.D. Ford and Sons Inc.	40	gallon	\$97.80		Prodiamine 4SC Select 2x2.5 gal	
	[ALT1] Advanced Turf Solutions, Inc	40	gallon	\$100.78		Armortech Kade 4L, a.i. Prodian	
	REAMS Sprinkler Supply (Heritage Lands	40	gallon	\$113.932	\$4,557.28		
	[ALT1] REAMS Sprinkler Supply (Heritage		gallon	\$113.932		Prime Source Prodiamine 4SC S	
	SiteOne Landscape Supply	40	gallon	\$141.10	\$5,644.00		
	D & K Products (Century Homes Compar		gallon	\$141.10	\$5,644.00		
	Clesens (Clesen Holdings LLC)	40	gallon	\$147.30	\$5,892.00	As Specified- 1 gallon containers	
	Contract Specialty	40	gallon	No Bid			
	Midwest Turf Support, LLC	40	gallon	No Bid			
11	Tordon RTU Herbicide 2						
- ' '-	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc	
	REAMS Sprinkler Supply (Heritage Lands		quart	\$11.05	\$143.65		
	TLE THE OPENITION COUPLING (FICE Hage Edited)	. 10	quart	ΨΙΙΙΟΟ	Ψ110.00		

[ALT1] REAMS Sprinkler Supply (Herit	tag∈13	quart	\$11.05	\$143.65	TRIUMPH RTU, Picloram: 4-amii
D & K Products (Century Homes Com	par 13	quart	\$14.21	\$184.73	
Clesens (Clesen Holdings LLC)	13	quart	\$14.63	\$190.19	As Specified
C.D. Ford and Sons Inc.	13	quart	\$15.52	\$201.76	
SiteOne Landscape Supply	13	quart	\$18.60	\$241.80	
Van Diest Supply Company	13	quart	No Bid		
Advanced Turf Solutions, Inc	13	quart	No Bid		
Midwest Turf Support, LLC	13	quart	No Bid		
Contract Specialty	13	quart	No Bid		
12 T-Zone SE					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
Clesens (Clesen Holdings LLC)	12	gallon	\$70.00	\$840.00	2.5 gallon container- 2x2.5 gallo
REAMS Sprinkler Supply (Heritage La	nds:12	gallon	\$77.25	\$927.00	
D & K Products (Century Homes Com	par 12	gallon	\$77.25	\$927.00	
Van Diest Supply Company	12	gallon	\$77.25	\$927.00	
SiteOne Landscape Supply	12	gallon	\$83.99	\$1,007.88	
Contract Specialty	12	gallon	No Bid		
Advanced Turf Solutions, Inc	12	gallon	No Bid		
Midwest Turf Support, LLC	12	gallon	No Bid		
13 Crossbow					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
Van Diest Supply Company	12	gallon	\$34.50	\$414.00	
SiteOne Landscape Supply	12	gallon	\$47.11	\$565.32	
D & K Products (Century Homes Com	par 12	gallon	\$47.35	\$568.20	
Clesens (Clesen Holdings LLC)	12	gallon	No Bid		
Contract Specialty	12	gallon	No Bid		
Advanced Turf Solutions, Inc					
Advanced ruit Solutions, inc	12	gallon	No Bid		
Midwest Turf Support, LLC	12 12	gallon gallon	No Bid No Bid		
·	12				
Midwest Turf Support, LLC	12	gallon	No Bid		
Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lat 14 Reward Supplier	12	gallon	No Bid	Extended	Supplier Notes / Alternate Desc
Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lat 14 Reward	12 nds:12	gallon gallon	No Bid No Bid	Extended \$670.50	
Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lat 14 Reward Supplier [ALT1] Van Diest Supply Company [ALT1] D & K Products (Century Home	12 nds: 12 QTY 15	gallon gallon UOM	No Bid No Bid Price		Tribune
Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land 14 Reward Supplier [ALT1] Van Diest Supply Company [ALT1] D & K Products (Century Home Clesens (Clesen Holdings LLC)	12 nds: 12 QTY 15	gallon gallon UOM gallon	No Bid No Bid Price \$44.70	\$670.50 \$678.00	Tribune
Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lat 14 Reward Supplier [ALT1] Van Diest Supply Company [ALT1] D & K Products (Century Home	12 nds:12 QTY 15 es (15 15	gallon gallon UOM gallon gallon	No Bid No Bid Price \$44.70 \$45.20	\$670.50 \$678.00 \$1,097.70	Tribune Tribune As Specified Diquat - 37.3%; Other Ingredien

	SiteOne Landscape Supply	15	gallon	\$79.00	\$1,185.00	
	Contract Specialty	15	gallon	No Bid		
	Midwest Turf Support, LLC	15	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	15	gallon	No Bid		
15	Specticle Flo					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compar	2	bottle	\$254.25	\$508.50	
	Van Diest Supply Company	2	bottle	\$254.25	\$508.50	
	Advanced Turf Solutions, Inc	2	bottle	\$254.25	\$508.50	
	SiteOne Landscape Supply	2	bottle	\$254.25	\$508.50	
	Clesens (Clesen Holdings LLC)	2	bottle	\$254.25	\$508.50	As Specified
	Contract Specialty	2	bottle	No Bid		
	Midwest Turf Support, LLC	2	bottle	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	2	bottle	No Bid		
16	Millennium Ultra II					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	SiteOne Landscape Supply	1	case	\$421.50	\$421.50	
	REAMS Sprinkler Supply (Heritage Lands	1	case	\$422.00	\$422.00	
	Clesens (Clesen Holdings LLC)	1	case	\$461.00	\$461.00	As Specified
	D & K Products (Century Homes Compar	1	case	\$461.00	\$461.00	
	Advanced Turf Solutions, Inc	1	case	\$461.00	\$461.00	
	Midwest Turf Support, LLC	1	case	No Bid		
	Van Diest Supply Company	1	case	No Bid		
	Contract Specialty	1	case	No Bid		
17	MISCELLANEOUS ITEMS					
4.0	ID 10.1 1140D					
18	Pond Colorant WSP	OT\/	LIONA	D.		Consultan Natara / All
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	D & K Products (Century Homes Compar		case	\$69.48	\$138.96	
	SiteOne Landscape Supply	2	case	\$74.25		SensiPro Pond Colorant WSB Blue
	[ALT1] Clesens (Clesen Holdings LLC)	2	case	\$112.00	\$224.00	Precision Labs True Blue - 12x5.
	Contract Specialty	2	case	No Bid		
	Van Diest Supply Company	2	case	No Bid		
	Advanced Turf Solutions, Inc	2	case	No Bid		
	Midwest Turf Support, LLC	2	case	No Bid		

REAMS Sprinkler Supply (Heritage Lan	dsı 2	case	No Bid		
19 Trinexapac-ethyl - 11.3%					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate De
[ALT1] Van Diest Supply Company	64	gallon	\$92.45	\$5,916.80	
D & K Products (Century Homes Comp	ar 64	gallon	\$97.34	\$6,229.76	
[ALT1] Clesens (Clesen Holdings LLC)	65	gallon	\$98.53	\$6,404.45	T-Nex- 2x2.5 gallon/case
[ALT1] C.D. Ford and Sons Inc.	64	gallon	\$124.00	\$7,936.00	Trinpac-Select 11.30% Trinexa
SiteOne Landscape Supply	64	gallon	\$124.47	\$7,966.08	Trin-Pac Select
[ALT1] Advanced Turf Solutions, Inc	65	gallon	\$137.27	\$8,922.55	ArmorTech PGR 113, a.i. Trine
REAMS Sprinkler Supply (Heritage Lan	ds: 64	gallon	\$157.464	\$10,077.70	
[ALT1] REAMS Sprinkler Supply (Herita		gallon	\$157.464	\$10,077.70	Prime Source Trin Pac Select F
Midwest Turf Support, LLC	64	gallon	No Bid		
Contract Specialty	64	gallon	No Bid		
20 Lining Chalk					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
C.D. Ford and Sons Inc.	576	bag	\$4.16	\$2,396.16	
D & K Products (Century Homes Comp	ar 576	bag	\$5.68	\$3,271.68	
SiteOne Landscape Supply	576	bag	\$7.21	\$4,152.96	Guide Line Athletic Marking C
Clesens (Clesen Holdings LLC)	576	bag	No Bid		
Contract Specialty	576	bag	No Bid		
Van Diest Supply Company	576	bag	No Bid		
Midwest Turf Support, LLC	576	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lan	ds: 576	bag	No Bid		
21 Turface MVP/Turface Allsport Drying	Compou	ınd			
Supplier	QTY	UOM	Price	Extended	Supplier Notes
C.D. Ford and Sons Inc.	80	bag	\$9.00	\$720.00	
D & K Products (Century Homes Comp	ar 80	bag	\$9.80	\$784.00	
SiteOne Landscape Supply	80	bag	\$11.94	\$955.20	Turface All Sport
Clesens (Clesen Holdings LLC)	80	bag	No Bid		
Contract Specialty	80	bag	No Bid		
Van Diest Supply Company	80	bag	No Bid		
Midwest Turf Support, LLC	80	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lan	ds: 80	bag	No Bid		
22 Turface Quick Dry/Turface Game Save	er				
Supplier	QTY	UOM	Price	Extended	Supplier Notes

	C.D. Ford and Sons Inc.	80	bag	\$8.50	\$680.00	
	D & K Products (Century Homes Compar	80	bag	\$9.75	\$780.00	
	SiteOne Landscape Supply	80	bag	\$11.94	\$955.20	
	Clesens (Clesen Holdings LLC)	80	bag	No Bid		
	Contract Specialty	80	bag	No Bid		
	Van Diest Supply Company	80	bag	No Bid		
	Midwest Turf Support, LLC	80	bag	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	80	bag	No Bid		
23	Proxy Growth Regulator					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	[ALT1] Van Diest Supply Company	40	gallon	\$21.95	\$878.00	Ethephon 2SL
	[ALT1] Clesens (Clesen Holdings LLC)	40	gallon	\$26.65	\$1,066.00	Ethephon 2SL- As Specified
	D & K Products (Century Homes Compar	40	gallon	\$27.89	\$1,115.60	
	Advanced Turf Solutions, Inc	40	gallon	\$41.20	\$1,648.00	
	SiteOne Landscape Supply	40	gallon	\$46.06	\$1,842.40	
	Contract Specialty	40	gallon	No Bid		
	Midwest Turf Support, LLC	40	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	40	gallon	No Bid		
24	Flex-A-Clay					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	[ALT1] C.D. Ford and Sons Inc.	40	bag	\$13.90	\$556.00	Turface 5 Star Packing Clay
	D & K Products (Century Homes Compar	40	bag	No Bid		
	Van Diest Supply Company	40	bag	No Bid		
	Midwest Turf Support, LLC	40	bag	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	40	bag	No Bid		
	SiteOne Landscape Supply	40	bag	No Bid		
	Clesens (Clesen Holdings LLC)	40	bag	No Bid		
	Contract Specialty	40	bag	No Bid		
25	Liquid Tank Cleaner					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	SiteOne Landscape Supply	2	case	\$80.04	\$160.08	LescoSol
	C.D. Ford and Sons Inc.	2	case	\$127.20	\$254.40	
	Clesens (Clesen Holdings LLC)	2	case	\$127.20	\$254.40	Precision Labs- Erase- As Specifi
	Cicacita (Cicacit Holdings ELC)				1	
	D & K Products (Century Homes Compar		case	\$130.80	\$261.60	
		. 2				
	D & K Products (Century Homes Compar	2	case	\$130.80	\$261.60 \$330.00	

[ALT1] Advanced Turf Solutions, Inc	2	case	\$201.36	\$402.72 Erase Spray System Cleaner
Van Diest Supply Company	2	case	No Bid	
Contract Specialty	2	case	No Bid	
Midwest Turf Support, LLC	2	case	No Bid	
26 Shakedown				
Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Des
[ALT1] SiteOne Landscape Supply	60	quart	\$8.56	\$513.60 Lesco Recede 2 x 16 oz/cont.
D & K Products (Century Homes Comp	ar 60	quart	\$10.45	\$627.00
[ALT1] C.D. Ford and Sons Inc.	60	quart	\$12.00	\$720.00 Defoamer Select 12x1qt.
[ALT1] Clesens (Clesen Holdings LLC)	60	quart	\$12.66	\$759.60 Knockdown- As Specified
[ALT1] REAMS Sprinkler Supply (Herita	g∈ 60	quart	\$12.85	\$771.00 Prime Source DEFOAMER SELEC
[ALT1] Advanced Turf Solutions, Inc	60	quart	\$18.00	\$1,080.00 Knockdown Antifoaming Agenta
Van Diest Supply Company	60	quart	No Bid	
Midwest Turf Support, LLC	60	quart	No Bid	
SiteOne Landscape Supply	60	quart	No Bid	
Contract Specialty	60	quart	No Bid	
27 Non-Ionic Surfactant				
Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate Des
[ALT1] Van Diest Supply Company	22.5	gallon	\$12.45	\$280.13 Brewer 90/10
SiteOne Landscape Supply	10	gallon	\$17.12	\$171.20 Lesco 90/10
REAMS Sprinkler Supply (Heritage Land	ls:22.5	gallon	\$17.096	\$384.66
D & K Products (Century Homes Compa	ar 22.5	gallon	\$17.30	\$389.25
C.D. Ford and Sons Inc.	22.5	gallon	\$24.25	\$545.63
[ALT1] Advanced Turf Solutions, Inc	22.5	gallon	\$24.74	\$556.65 Chem Stik LPH, Proprietary bler
[ALT1] Clesens (Clesen Holdings LLC)	23	gallon	\$27.91	\$641.93 Border 2.0- 1 gallon container
Midwest Turf Support, LLC	22.5	gallon	No Bid	
Contract Specialty	22.5	gallon	No Bid	
28 Captain XTR				
Supplier	QTY	UOM	Price	Extended Supplier Notes
D & K Products (Century Homes Comp	ar 10	gallon	\$28.56	\$285.60
Clesens (Clesen Holdings LLC)	10	gallon	\$31.15	\$311.50 As Specified
Van Diest Supply Company	10	gallon	\$31.35	\$313.50
SiteOne Landscape Supply	,		\$44.44	\$266.64 Captain XTRA 2.5 gal./cont.
, ,,,	6	gallon	\$44.44 	·
Advanced Turf Solutions, Inc	10	gallon	\$46.36	\$463.60
, ,,,	10 10			·

	Contract Specialty	10	gallon	No Bid		
29	Cornbelt (foamer)					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	Van Diest Supply Company	6	gallon	\$19.29	\$115.74	
	Clesens (Clesen Holdings LLC)	6	gallon	No Bid		
	Contract Specialty	6	gallon	No Bid		
	Midwest Turf Support, LLC	6	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	516	gallon	No Bid		
	D & K Products (Century Homes Compa	6	gallon	No Bid		
30	Brandt Indicate 5					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compa	11	gallon	\$37.40	\$411.40	
	SiteOne Landscape Supply	11	gallon	\$40.30	\$443.30)
	Clesens (Clesen Holdings LLC)	11	gallon	No Bid		
	Contract Specialty	11	gallon	No Bid		
	Van Diest Supply Company	11	gallon	No Bid		
	Advanced Turf Solutions, Inc	11	gallon	No Bid		
	Midwest Turf Support, LLC	11	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	5111	gallon	No Bid		
31	Clay Bricks					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
	SiteOne Landscape Supply	38	bag	\$12.41	\$471.58	B DuraEdge ProLock
	D & K Products (Century Homes Compa	38	bag	\$12.80	\$486.40)
	[ALT1] C.D. Ford and Sons Inc.	38	bag	\$16.00	\$608.00) Turface Moundmaster Bricks 8/
	Van Diest Supply Company	38	bag	No Bid		
	Midwest Turf Support, LLC	38	bag	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	38	bag	No Bid		
	Clesens (Clesen Holdings LLC)	38	bag	No Bid		
	Contract Specialty	38	bag	No Bid		
33	Turftech BioMega					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compa	16	lb	\$77.00	\$1,232.00	
	Van Diest Supply Company	16	lb	No Bid		
	Advanced Turf Solutions, Inc	16	lb	No Bid		
	Midwest Turf Support, LLC	16	lb	No Bid		

	REAMS Sprinkler Supply (Heritage Lands	16	lb	No Bid		
	SiteOne Landscape Supply	16	lb	No Bid		
	Clesens (Clesen Holdings LLC)	16	lb	No Bid		
	Contract Specialty	16	lb	No Bid		
34	Turftech Bio					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compar	8	lb	\$202.00	\$1,616.00	
	Van Diest Supply Company	8	lb	No Bid		
	Advanced Turf Solutions, Inc	8	lb	No Bid		
	Midwest Turf Support, LLC	8	lb	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	8	lb	No Bid		
	SiteOne Landscape Supply	8	lb	No Bid		
	Clesens (Clesen Holdings LLC)	8	lb	No Bid		
	Contract Specialty	8	lb	No Bid		
35	Turftech Thatch Relief					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	D & K Products (Century Homes Compar	15	gallon	\$45.80	\$687.00	
	Van Diest Supply Company	15	gallon	No Bid		
	Advanced Turf Solutions, Inc	15	gallon	No Bid		
	Midwest Turf Support, LLC	15	gallon	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	15	gallon	No Bid		
	SiteOne Landscape Supply	15	gallon	No Bid		
	Clesens (Clesen Holdings LLC)	15	gallon	No Bid		
	Contract Specialty	15	gallon	No Bid		
36	Floratine Eon 75					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	Midwest Turf Support, LLC	6	bag	\$90.00	\$540.00)
	REAMS Sprinkler Supply (Heritage Lands		bag	No Bid		
	SiteOne Landscape Supply	6	bag	No Bid		
	Clesens (Clesen Holdings LLC)	6	bag	No Bid		
	Contract Specialty	6	bag	No Bid		
	D & K Products (Century Homes Compar	6	bag	No Bid		
	Van Diest Supply Company	6	bag	No Bid		
	Advanced Turf Solutions, Inc	6	bag	No Bid		
37	Floratine Maxiplex					

Supplier	QTY	UOM	Price	Extended	Supplier Notes
Midwest Turf Support, LLC	20	gallon	\$36.00	\$720.00	
REAMS Sprinkler Supply (Heritage Land	sı 20	gallon	No Bid		
SiteOne Landscape Supply	20	gallon	No Bid		
Clesens (Clesen Holdings LLC)	20	gallon	No Bid		
Contract Specialty	20	gallon	No Bid		
D & K Products (Century Homes Compa	ır 20	gallon	No Bid		
Van Diest Supply Company	20	gallon	No Bid		
Advanced Turf Solutions, Inc	20	gallon	No Bid		
38 FUNGICIDE					
39 Iprodione 2SE					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
D & K Products (Century Homes Compa	ır 225	gallon	\$50.48	\$11,358.00	
[ALT1] Van Diest Supply Company	225	gallon	\$51.10		Chipco 26019
[ALT1] Clesens (Clesen Holdings LLC)	225	gallon	\$52.48	\$11,808.00	Chipco 26019
SiteOne Landscape Supply	225	gallon	\$67.09	\$15,095.25	Lesco 18 Plus
[ALT1] C.D. Ford and Sons Inc.	225	gallon	\$70.00	\$15,750.00	Iprodione 2F Select, Iprodione 2
[ALT1] Advanced Turf Solutions, Inc	225	gallon	\$79.20	\$17,820.00	ArmorTech IP 238, a.i. 3-(3,5-did
REAMS Sprinkler Supply (Heritage Land	sı 225	gallon	\$82.64	\$18,594.00	
[ALT1] REAMS Sprinkler Supply (Heritag	j€ 225	gallon	\$82.64	\$18,594.00	PRIME SOURCE IPRODIONE 2F S
Midwest Turf Support, LLC	225	gallon	No Bid		
Contract Specialty	225	gallon	No Bid		
40 Subdue MAXX Fungicide					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
D & K Products (Century Homes Compa	ır 1	gallon	\$301.23	\$301.23	
[ALT1] Van Diest Supply Company	1	gallon	\$318.45	\$318.45	Mefenaxom
[ALT1] Clesens (Clesen Holdings LLC)	1	gallon	\$334.74	\$334.74	Mefenoxam 2 AQ
[ALT1] C.D. Ford and Sons Inc.	1	gallon	\$357.90	\$357.90	Regulate Select: Metalaxyl; N-(2
REAMS Sprinkler Supply (Heritage Land	sı 1	gallon	\$516.54	\$516.54	
[ALT1] REAMS Sprinkler Supply (Heritag	J∈ 1	gallon	\$516.54	\$516.54	Prime Source Regulate Select Fu
SiteOne Landscape Supply	1	gallon	\$554.15	\$554.15	
Advanced Turf Solutions, Inc	1	gallon	No Bid		
Midwest Turf Support, LLC	1	gallon	No Bid		
Contract Specialty	1	gallon	No Bid		

41 Chlorothalonil					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
D & K Products (Century Homes Co	mpar 185	gallon	\$26.80	\$4,958.00	
Van Diest Supply Company	185	gallon	\$27.15	\$5,022.75	
[ALT1] Clesens (Clesen Holdings LLC	185	gallon	\$31.35	\$5,799.75	Chlorothalonil 720
Contract Specialty	185	gallon	\$35.00	\$6,475.00	
SiteOne Landscape Supply	185	gallon	\$39.32	\$7,274.20	Lesco Manicure 6FL
REAMS Sprinkler Supply (Heritage L	ands: 185	gallon	\$43.272	\$8,005.32	
[ALT1] REAMS Sprinkler Supply (Her	ritag∈ 185	gallon	\$43.272	\$8,005.32	Prime Source Chlorothalonil 720
[ALT1] C.D. Ford and Sons Inc.	185	gallon	\$44.50	\$8,232.50	Chlorothalonil 720 Select 2x2.5
[ALT1] Advanced Turf Solutions, Inc	185	gallon	\$48.00	\$8,880.00	ArmorTech CLT 720, a.i. (tetrach
Midwest Turf Support, LLC	185	gallon	No Bid		
42 Propiconazole					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
D & K Products (Century Homes Co	mpar 92.5	gallon	\$45.70	\$4,227.25	
Van Diest Supply Company	92.5	gallon	\$52.40	\$4,847.00	
[ALT1] Clesens (Clesen Holdings LLC	92.5	gallon	\$53.52	\$4,950.60	Strider- As Specified
[ALT1] C.D. Ford and Sons Inc.	92.5	gallon	\$65.00		Propiconazole 14.3 Select 2x2.5
[ALT1] Advanced Turf Solutions, Inc		gallon	\$70.00		ArmorTech PPZ 143, a.i. Propico
SiteOne Landscape Supply	92.5	gallon	\$70.84	\$6,552.70	Lesco Spectator Ultra
REAMS Sprinkler Supply (Heritage L	ands: 92.5	gallon	\$94.74	\$8,763.45	
[ALT1] REAMS Sprinkler Supply (Her	ritag∈92.5	gallon	\$94.74	\$8,763.45	Prime Source Propiconazole 14.
Midwest Turf Support, LLC	92.5	gallon	No Bid		
Contract Specialty	92.5	gallon	No Bid		
43 Propamocarb					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
D & K Products (Century Homes Co	mpar 2	gallon	\$248.00	\$496.00	
[ALT1] Clesens (Clesen Holdings LLC	2) 2	gallon	\$273.68	\$547.36	Proplant- As Specified
[ALT1] Van Diest Supply Company	2	gallon	\$315.00	\$630.00	Karma
Contract Specialty	2	gallon	\$325.00	\$650.00	
Advanced Turf Solutions, Inc	2	gallon	No Bid		
Midwest Turf Support, LLC	2	gallon	No Bid		
REAMS Sprinkler Supply (Heritage L	ands/2	gallon	No Bid		
SiteOne Landscape Supply	2	gallon	No Bid		
44 Tee-Off 4.5F					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc

	[ALT1] Van Diest Supply Company	140	gallon	\$34.95	\$4,893.00 Transom 4.5F
	SiteOne Landscape Supply	140	gallon	\$44.93	\$6,290.20 Lesco T-Storm T-methyl
	D & K Products (Century Homes Compar	140	gallon	\$45.60	\$6,384.00
	[ALT1] Clesens (Clesen Holdings LLC)	140	gallon	\$48.17	\$6,743.80 Transom 4.5F - As Specified
	[ALT1] Advanced Turf Solutions, Inc	140	gallon	\$66.00	\$9,240.00 ArmorTech TM 462, a.i. Thioph
	REAMS Sprinkler Supply (Heritage Lands	140	gallon	\$85.12	\$11,916.80
	[ALT1] REAMS Sprinkler Supply (Heritage	140	gallon	\$85.12	\$11,916.80 PRIME SOURCE TM 4.5 SELECT
	Midwest Turf Support, LLC	140	gallon	No Bid	
	Contract Specialty	140	gallon	No Bid	
45	Phosphite Program				
	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate De
	SiteOne Landscape Supply	220	gallon	\$22.82	\$5,020.40 BRANDT Liqui-Phi 0-0-25
	Clesens (Clesen Holdings LLC)	220	gallon	\$23.60	\$5,192.00 Clesens 0-0-26 Phosphite- As S
	[ALT1] Advanced Turf Solutions, Inc	220	gallon	\$23.90	\$5,258.00 ArmorTech 28+Si, Soluable Po
	REAMS Sprinkler Supply (Heritage Lands	220	gallon	\$27.50	\$6,050.00
	[ALT1] REAMS Sprinkler Supply (Heritage	220	gallon	\$27.50	\$6,050.00 PRIME SOURCE PHITE 0-0-26,
	D & K Products (Century Homes Compar	220	gallon	\$28.60	\$6,292.00
	[ALT1] Van Diest Supply Company	220	gallon	\$36.75	\$8,085.00 Stressmaster
	Midwest Turf Support, LLC	220	gallon	No Bid	
	Contract Specialty	220	gallon	No Bid	
46	Ignition Power Phyte				
	Supplier	QTY	UOM	Price	Extended Supplier Notes
	D & K Products (Century Homes Compar	. 3	container	\$6,575.00	\$19,725.00
	Van Diest Supply Company	3	container	No Bid	
	Advanced Turf Solutions, Inc	3	container	No Bid	
	Midwest Turf Support, LLC	3	container	No Bid	
	REAMS Sprinkler Supply (Heritage Lands	13	container	No Bid	
	SiteOne Landscape Supply	3	container	No Bid	
	Contract Specialty	3	container	No Bid	
47	Tebuconozole				
	Supplier	QTY	UOM	Price	Extended Supplier Notes / Alternate De
	D & K Products (Century Homes Compar	83	gallon	\$52.34	\$4,344.22
	Clesens (Clesen Holdings LLC)	83	gallon	\$54.31	\$4,507.73 Tebuconozole- 4x1 gal
	Van Diest Supply Company	83	gallon	\$55.25	\$4,585.75
	[ALT1] C.D. Ford and Sons Inc.	83	gallon	\$64.00	\$5,312.00 Tebuconazole 3.6 Select Tebuc
1	[/ [21 1] 0.0.1 01 4 4114 00115 1110.	00	94	ΨΟ 1100	\$0,012:00 TODGCOTIGEOTO 0:0 001001 TODGC
	Contract Specialty	83	gallon	\$72.00	\$5,976.00

REAMS Sprinkler Supply (Heritage Lands 83 gallon \$101.32 \$8,409.56 [ALT1] REAMS Sprinkler Supply (Heritage 83 gallon \$101.32 \$8,409.56 Tebuconazole 3.6 \$	
	Select Fungici
SiteOne Landscape Supply 83 gallon No Bid	
Midwest Turf Support, LLC 83 gallon No Bid	
48 Fluazinam 40%	
Supplier QTY UOM Price Extended Supplier Notes / A	Iternate Desc
D & K Products (Century Homes Compar 26 gallon \$269.00 \$6,994.00	
[ALT1] Van Diest Supply Company 26 gallon \$278.94 \$7,252.44 Flexguard	
[ALT1] Clesens (Clesen Holdings LLC) 26 gallon \$279.00 \$7,254.00 Flex-Guard- 4x1 ga	I
[ALT1] C.D. Ford and Sons Inc. 26 gallon \$300.00 \$7,800.00 Fluazinam 40SC Se	lect 2x2.5gall
REAMS Sprinkler Supply (Heritage Lands) 26 gallon \$389.668 \$10,131.37	
[ALT1] REAMS Sprinkler Supply (Heritage 26 gallon \$389.668 \$10,131.37 Prime Source Fluaz	inam 40SC Se
[ALT1] Advanced Turf Solutions, Inc 26 gallon \$450.00 \$11,700.00 ArmorTech Rotato	r, a.i. Fluazina
SiteOne Landscape Supply 26 gallon No Bid	
Midwest Turf Support, LLC 26 gallon No Bid	
Contract Specialty 26 gallon No Bid	
49 Chlorothalonil 500 ZN	
Supplier OTY UOM Price Extended Supplier Notes / A	Iternate Desc
[ALT1] Advanced Turf Solutions, Inc 5 gallon \$51.33 \$256.65 Echo Zn T&O, a.i. C	<mark>hlorothaloni</mark> l
D & K Products (Century Homes Compar 5 gallon \$72.10 \$360.50	
[ALT1] Clesens (Clesen Holdings LLC) 5 gallon \$72.10 \$360.50 Daconil Zn	
Van Diest Supply Company 5 gallon No Bid	
Contract Specialty 5 gallon No Bid	
Midwest Turf Support, LLC 5 gallon No Bid	
REAMS Sprinkler Supply (Heritage Lands 5 gallon No Bid	
SiteOne Landscape Supply 5 gallon No Bid	
50 Azoxystrobin	
Supplier QTY UOM Price Extended Supplier Notes / A	Iternate Desc
[ALT1] Clesens (Clesen Holdings LLC) 3 gallon \$192.22 \$576.66 Strobe 2L	
Midwest Turf Support, LLC 3 gallon \$200.00 \$600.00	
1 yanon \$200.00 \$000.00	
D & K Products (Century Homes Compar 3 gallon \$229.00 \$687.00	
	gallon contail
D & K Products (Century Homes Compar 3 gallon \$229.00 \$687.00	gallon contail
D & K Products (Century Homes Compar 3 gallon \$229.00 \$687.00 [ALT1] C.D. Ford and Sons Inc. 3 gallon \$249.45 \$748.35 Azoxy 2SC Select 1	gallon contail

[ALT1] REAMS Sprinkler Supply (Heritag	€3	gallon	\$304.661	\$913.98	Azoxy 2SC Select Fungicide, A
[ALT1] Advanced Turf Solutions, Inc	3	gallon	\$385.00	\$1,155.00	ArmorTech Zoxy 2F, methyl (
SiteOne Landscape Supply	3	gallon	No Bid		
52 Mancozeb					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate D
[ALT1] Clesens (Clesen Holdings LLC)	2	bag	\$53.67	\$107.34	Dithane 75DF- 12lb. bag
[ALT1] Advanced Turf Solutions, Inc	2	bag	\$71.11	\$142.22	Dithane 75DF, a.i. Mancozeb
SiteOne Landscape Supply	4	bag	\$65.71	\$262.84	
Contract Specialty	4	bag	No Bid		
D & K Products (Century Homes Compa	r 4	bag	No Bid		
Van Diest Supply Company	4	bag	No Bid		
Midwest Turf Support, LLC	4	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands	Si 4	bag	No Bid		
53 Posterity					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compa	r 1	bottle	\$1,545.00	\$1,545.00	
Van Diest Supply Company	1	bottle	\$1,545.00	\$1,545.00	
SiteOne Landscape Supply	1	bottle	\$1,545.00	\$1,545.00	
Clesens (Clesen Holdings LLC)	1	bottle	\$1,545.00	\$1,545.00	As Specified
Contract Specialty	1	bottle	No Bid		
Advanced Turf Solutions, Inc	1	bottle	No Bid		
Midwest Turf Support, LLC	1	bottle	No Bid		
REAMS Sprinkler Supply (Heritage Lands	Si 1	bottle	No Bid		
4 Maxtima					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compa	r 1	jug	\$1,975.00	\$1,975.00	
Van Diest Supply Company	1	jug	\$1,975.00	\$1,975.00	
Advanced Turf Solutions, Inc	1	jug	\$1,975.00	\$1,975.00	
SiteOne Landscape Supply	1	jug	\$1,975.00	\$1,975.00	
Clesens (Clesen Holdings LLC)	1	jug	No Bid		
Contract Specialty	1	jug	No Bid		
Midwest Turf Support, LLC	1	jug	No Bid		
REAMS Sprinkler Supply (Heritage Lands	5:1	jug	No Bid		
5 INSECTICIDES					

Supplier OTY UOM Price Extended Supplier Notes Van Diest Supply Company 5 quart \$135.65 \$678.25 D & K Products (Century Homes Compar 5 quart \$139.70 \$698.50 Clesens (Clesen Holdings LLC) 5 quart \$146.34 \$731.70 As Specified SiteOne Landscape Supply 5 quart \$198.15 \$990.75 Contract Specialty 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Midwest Turf Support, LLC 5 quart No Bid Midwest Supply (Heritage Lands 5 quart No Bid Midwest Supply (Heritage Lands 5 quart No Bid Midwest Supply Company 10 quart No Bid Supplier Notes / Alternate Des Van Diest Supply Company 10 quallon \$43.15 \$431.50 D & K Products (Century Homes Compar 10 gallon \$49.80 \$498.00 REAMS Sprinkler Supply (Heritage Lands 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$660.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Accelepryn Supplier QTY UOM Price Extended Supplier Notes Accelepryn Supplier QTY UOM Price Extended Supplier Notes Accelepryn Supplier QTY UOM Price Extended Supplier Notes FiteOne Landscape Supply 128 oz \$16.7617 \$2,145.50 Active Landscape Supply 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid RAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Cont	5/ l 0 : :: 001					
Van Diest Supply Company 5 quart \$135.65 \$678.25 D & K Products (Century Homes Compar 5 quart \$139.70 \$698.50 Clesens (Clesen Holdings LLC) 5 quart \$146.34 \$731.70 As Specified SiteOne Landscape Supply 5 quart \$198.15 \$990.75 Contract Specialty 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Midwest Turf Support, LLC 5 quart No Bid REAMS Sprinkler Supply (Heritage Lands 5 quart No Bid Reams) Supplier QTY UOM Price Extended Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 D & K Products (Century Homes Compar 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRI SiteOne Landscape Supply (Heritage Lands 10 gallon \$66.00 \$600.00 PRIMERAONE 2F IMIDACLOPRI SiteOne Landscape Supply 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Acclepryn Supplier QTY UOM Price Extended Supplier Notes / Alternate Des SiteOne Landscape Supply 10 gallon \$61.00 \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRI SiteOne Landscape Supply 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.761 \$2.145.50 As Specified 4x64oz/case D& K Products (Century Homes Compar 128 oz \$16.7617 \$2.145.50 As Specified 4x64oz/case D& K Products (Century Homes Compar 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid No Bid Reams Supplier Notes	6 Scimitar GC Insecticide	OTV	11014	Dring	Fytondod	Cumplior Notes
D. & K. Products (Century Homes Compar 5 quart \$139.70 \$698.50 Clesens (Clesen Holdings LLC) 5 quart \$146.34 \$731.70 As Specified SiteOne Landscape Supply 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Midwest Turf Support, LLC 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon No Bid Midwest Turf Support, LLC 10 gallon No Bid Acelepryn Supplier 0 CTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.7617 \$2,145.50 Acelepryn Supplier 0 CTY UOM Price Extended Supplier Notes Midwest Turf Support, LLC 10 Box SiteOne Landscape Supply 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 2 So No Bid Midwest Turf Support, LLC 2 So No Bid Midwest Turf Support, LLC 2 So No Bid Midwest Turf Support, LLC 3 So No Bid Midwest Turf Support, LLC 3 So No Bid Midwest Turf Support, LLC 4 S						Supplier Notes
Clesens (Clesen Holdings LLC) 5 quart \$146.34 \$731.70 As Specified SiteOne Landscape Supply 5 quart \$198.15 \$990.75 Contract Specialty 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Midwest Turf Support, LLC 5 quart No Bid REAMS Sprinkler Supply (Heritage Lands; 5 quart No Bid Midacloprid Supplier QTY UOM Price Extended Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 B & K Products (Century Homes Compar 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F IALT1] REAMS Sprinkler Supply (Heritage Lands; 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Clesens (Clesen Holdings LLC) 10 gallon No Bid Contract Specialty 10 gallon No Bid Contract Specialty 10 gallon No Bid Acelepryn Supplier QTY UOM Price Extended Supplier Notes Acelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.7617 \$2.145.50 As Specified 4x64oz/case D & K Products (Century Homes Compar 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Contract Specialty 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Contract Specialty 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Contract Specialty 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid Midwest Turf Supply (Heritage Lands; 128 oz No Bid					· ·	
SiteOne Landscape Supply 5 quart \$198.15 \$990.75 Contract Specialty 5 quart No Bild Advanced Turf Solutions, Inc 5 quart No Bild Mildwest Turf Support, LLC 5 quart No Bild Supplier QTY UOM Price Extended Supplier Notes / Alternate Des Yan Diest Supply (Heritage Lands 10 gallon \$43.15 \$431.50 D & K Products (Century Homes Compar 10 gallon \$49.80 \$498.00 \$600.00 [ALT1] REAMS Sprinkler Supply (Heritage Lands 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon No Bild Contract Specialty 10 gallon No Bild Contract Specialty 10 gallon No Bild Contract Specialty 128 oz \$16.7617 \$2,145.50 \$2,145.50 \$2,145.50 \$2,145.50 \$1.00 REAMS Supply Company 128 oz No Bild REAMS Supply (Heritage Lands 28 oz No Bild Contract Specialty 128 oz No Bild REAMS Supply (Heritage Lands 28 oz No Bild Contract Specialty 128 oz No Bild REAMS Supply (Heritage Lands 28 oz No Bild Contract Specialty 128 oz No Bild REAMS Supply (Heritage Lands 128 oz No Bild Contract Specialty 128 oz No Bild REAMS Sprinkler Supply (Heritage Lands 128 oz No Bild Contract Specialty 128 oz No Bild REAMS Sprinkler Supply (Heritage Lands 128 oz No Bild Contract Specialty 128 oz No Bild Con			<u> </u>			
Contract Specialty 5 quart No Bid Advanced Turf Solutions, Inc 5 quart No Bid Midwest Turf Support, LLC 10 quart No Bid Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 \$49.80 \$498.00 \$600.00 \$, ,		•			As Specified
Advanced Turf Solutions, Inc 5 quart No Bid Midwest Turf Support, LLC 5 quart No Bid REAMS Sprinkler Supply (Heritage Lands 5 quart No Bid REAMS Sprinkler Supply (Heritage Lands 5 quart No Bid Imidacloprid Supplier OTY UOM Price Extended Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 \$49.80 \$498.00 \$60.00 \$600.00 \$, ,,,,				\$990.75	
Midwest Turf Support, LLC 5 quart No Bid REAMS Sprinkler Supply (Heritage Lands: 5 quart No Bid No Bid REAMS Sprinkler Supply (Heritage Lands: 5 quart No Bid REAMS Sprinkler Supply (Heritage Lands: 5 quart No Bid Reams Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50	, ,		•			
REAMS Sprinkler Supply (Heritage Lands 5 quart No Bid Imidacloprid Supplier QTY UOM Price Extended Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 D & K Products (Century Homes Compar 10 gallon \$49.80 \$498.00 REAMS Sprinkler Supply (Heritage Lands 10 gallon \$60.00 \$600.00 [ALT1] REAMS Sprinkler Supply (Heritage 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F [ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Acelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.761 \$2,145.28 Agency \$1072.75 per 64 oz /co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 Acelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.7617 \$2,145.50 As Specified-4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Advanced Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Supplier Notes Extended Supplier Notes Supplier No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68			·			
Imidacloprid Supplier OTY UOM Price Extended Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 B & K Products (Century Homes Compar 10 gallon \$49.80 \$498.00 REAMS Sprinkler Supply (Heritage Lands) 10 gallon \$60.00 \$600.00 [ALT1] REAMS Sprinkler Supply (Heritage 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F [ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F- 1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Acelepryn Supplier OTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.761 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands) 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands) 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands) 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Supplier No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Supplier No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Supplier No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes			•			
Supplier OTY UOM Price Extended Supplier Notes / Alternate Des Van Diest Supply Company 10 gallon \$43.15 \$431.50 \$431.50 \$0.50 \$0.50 \$0.00	REAMS Sprinkler Supply (Heritage Land	S15	quart	No Bid		
Van Diest Supply Company 10 gallon \$43.15 \$431.50 \$498.00 \$498.00 \$EAMS Sprinkler Supply (Heritage Lands: 10 gallon \$60.00 \$600.00 \$650.00	Imidacloprid					
D & K Products (Century Homes Compar 10 gallon \$49.80 \$498.00 REAMS Sprinkler Supply (Heritage Lands 10 gallon \$60.00 \$600.00 \$600.00 REAMS Sprinkler Supply (Heritage 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SIteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F [ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Contract Specialty 10 gallon No Bid No Bid Acelepryn Supplier QTY UOM Price Extended Supplier Notes SIteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case Oxan Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz N	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Des
D & K Products (Century Homes Compar 10 gallon \$49.80 \$498.00 REAMS Sprinkler Supply (Heritage Lands 10 gallon \$60.00 \$600.00 \$600.00 REAMS Sprinkler Supply (Heritage 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SIteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F [ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Contract Specialty 10 gallon No Bid No Bid Acelepryn Supplier QTY UOM Price Extended Supplier Notes SIteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case Oxan Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz N	Van Diest Supply Company	10	gallon	\$43.15	\$431.50	
[ALT1] REAMS Sprinkler Supply (Heritage 10 gallon \$60.00 \$600.00 PRIMERAONE 2F IMIDACLOPRII SiteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F [ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F-1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Contract Specialty 10 gallon No Bid Contract Specialty 10 gallon No Bid Contract Specialty 10 gallon No Bid SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz No Bid Supplier Notes Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	D & K Products (Century Homes Compa	ır 10	gallon	\$49.80	\$498.00	
SiteOne Landscape Supply 10 gallon \$64.59 \$645.90 Lesco Bandit 2F [ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F- 1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon No Bid Midwest Turf Support, LLC 10 gallon No Bid Acelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.761 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier OTY UOM Price Extended Supplier Notes Extended Supplier Notes Supplier \$2,145.50 As Specified- 4x64oz/case No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier OTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	REAMS Sprinkler Supply (Heritage Land	si 10	gallon	\$60.00	\$600.00	
[ALT1] Clesens (Clesen Holdings LLC) 10 gallon \$65.00 \$650.00 Merit 2F- 1 gallon [ALT1] Advanced Turf Solutions, Inc 10 gallon No Bid Midwest Turf Support, LLC 10 gallon No Bid Contract Specialty 10 gallon No Bid Modelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz No Bid Contract Specialty 128 oz No Bid Contract Specialty 128 oz No Bid Supplier Contract Specialty 128 oz No Bid Supplier Supply (Heritage Lands/128 oz No Bid Contract Specialty 128 oz No Bid Supplier Supply (Heritage Lands/128 oz No Bid Supplier No Bid Supplier Supp	[ALT1] REAMS Sprinkler Supply (Heritag	j∈ 10	gallon	\$60.00	\$600.00	PRIMERAONE 2F IMIDACLOPRI
[ALT1] Advanced Turf Solutions, Inc 10 gallon \$65.00 \$650.00 Mineiro 2F, a.i. Imidacloprid 21 Midwest Turf Support, LLC 10 gallon No Bid Contract Specialty 10 gallon No Bid Acelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands) 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	SiteOne Landscape Supply	10	gallon	\$64.59	\$645.90	Lesco Bandit 2F
Midwest Turf Support, LLC 10 gallon No Bid Acelepryn Supplier OTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier OTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	[ALT1] Clesens (Clesen Holdings LLC)	10	gallon	\$65.00	\$650.00	Merit 2F- 1 gallon
Acelepryn Supplier SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands) 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier OTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	[ALT1] Advanced Turf Solutions, Inc	10	gallon	\$65.00	\$650.00	Mineiro 2F, a.i. Imidacloprid 21
Acelepryn Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Midwest Turf Support, LLC	10	gallon	No Bid		
Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands/128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Contract Specialty	10	gallon	No Bid		
Supplier QTY UOM Price Extended Supplier Notes SiteOne Landscape Supply 128 oz \$16.76 \$2,145.28 Agency \$1072.75 per 64 oz./co Clesens (Clesen Holdings LLC) 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands/128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Acelepryn					
Clesens (Clesen Holdings LLC) D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Supplier	QTY	UOM	Price	Extended	Supplier Notes
Clesens (Clesen Holdings LLC) D & K Products (Century Homes Compar 128 oz \$16.7617 \$2,145.50 As Specified- 4x64oz/case Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	SiteOne Landscape Supply	128	OZ	\$16.76	\$2 <u>,</u> 145. <u>28</u>	Agency \$1072.75 per 64 oz./co
Van Diest Supply Company 128 oz \$16.7617 \$2,145.50 Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Clesens (Clesen Holdings LLC)	128	OZ	\$16.7617		, i
Advanced Turf Solutions, Inc 128 oz No Bid Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	D & K Products (Century Homes Compa	r 128	OZ	\$16.7617	\$2,145.50	
Midwest Turf Support, LLC 128 oz No Bid REAMS Sprinkler Supply (Heritage Lands: 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Van Diest Supply Company	128	OZ	\$16.7617	\$2,145.50	
REAMS Sprinkler Supply (Heritage Lands 128 oz No Bid Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Advanced Turf Solutions, Inc	128	OZ	No Bid		
Contract Specialty 128 oz No Bid Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Midwest Turf Support, LLC	128	OZ	No Bid		
Arbormectin Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	REAMS Sprinkler Supply (Heritage Land	sı 128	OZ	No Bid		
Supplier QTY UOM Price Extended Supplier Notes Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Contract Specialty	128	OZ	No Bid		
Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Arbormectin					
Advanced Turf Solutions, Inc 4 quart \$321.92 \$1,287.68	Supplier	QTY	UOM	Price	Extended	Supplier Notes
•	Advanced Turf Solutions, Inc	4	quart	\$321.92	\$1,287.68	
	D & K Products (Century Homes Compa	r 4	quart	\$338.00	\$1,352.00	

	Van Diest Supply Company	4	quart	No Bid			
	Midwest Turf Support, LLC	4	quart	No Bid			
	REAMS Sprinkler Supply (Heritage Lands	4	quart	No Bid			
	SiteOne Landscape Supply	4	quart	No Bid			
	Clesens (Clesen Holdings LLC)	4	quart	No Bid			
	Contract Specialty	4	quart	No Bid			
60	Tree-Age R10						
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	
	SiteOne Landscape Supply	2	pint	\$546.20	\$1,092.40		
	Clesens (Clesen Holdings LLC)	2	pint	\$569.00	\$1,138.00	As Specified	
	Contract Specialty	2	pint	No Bid			
	D & K Products (Century Homes Compar	2	pint	No Bid			
	Van Diest Supply Company	2	pint	No Bid			
	Advanced Turf Solutions, Inc	2	pint	No Bid			
	Midwest Turf Support, LLC	2	pint	No Bid			
	REAMS Sprinkler Supply (Heritage Lands	2	pint	No Bid			
61	Zoecon Altosid XR Extended Residual Br	iquets					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	
	Van Diest Supply Company	3	case	\$787.60	\$2,362.80		
		2	case	No Bid			
	Advanced Turf Solutions, Inc	3					
	Midwest Turf Support, LLC	3	case	No Bid			
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lands	3		No Bid			
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lands SiteOne Landscape Supply	3	case				
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC)	3	case case	No Bid			
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty	3 3 3 3 3	case case	No Bid No Bid			
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC)	3 3 3 3 3	case case case	No Bid No Bid No Bid			
62	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty	3 3 3 3 3	case case case case case	No Bid No Bid No Bid No Bid			
62	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar	3 3 3 3 3	case case case case case	No Bid No Bid No Bid No Bid			
62	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS	3 3 3 3 3 3 3	case case case case case case	No Bid No Bid No Bid No Bid No Bid			
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS Tricure AD Supplier	3 3 3 3 3 3 3	case case case case case case UOM	No Bid No Bid No Bid No Bid No Bid	Extended	Supplier Notes	
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS Tricure AD Supplier D & K Products (Century Homes Compar	3 3 3 3 3 3 3	case case case case case case	No Bid No Bid No Bid No Bid No Bid Price \$2,085.00	Extended \$2,085.00	Supplier Notes	
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS Tricure AD Supplier D & K Products (Century Homes Compar Van Diest Supply Company	3 3 3 3 3 3 3	case case case case case case UOM	No Bid No Bid No Bid No Bid No Bid		Supplier Notes	
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS Tricure AD Supplier D & K Products (Century Homes Compar	3 3 3 3 3 3 3	case case case case case case duom	No Bid No Bid No Bid No Bid No Bid Price \$2,085.00		Supplier Notes	
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS Tricure AD Supplier D & K Products (Century Homes Compar Van Diest Supply Company	3 3 3 3 3 3 3 7 QTY 1	case case case case case case dase case case	No Bid No Bid No Bid No Bid No Bid Price \$2,085.00 No Bid		Supplier Notes	
	Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landse SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compar WETTING AGENTS Tricure AD Supplier D & K Products (Century Homes Compar Van Diest Supply Company Advanced Turf Solutions, Inc	3 3 3 3 3 3 3 3 1 1 1 1	case case case case case case drum drum drum drum	No Bid No Bid No Bid No Bid No Bid Price \$2,085.00 No Bid No Bid		Supplier Notes	

SiteOne Landscape Supply	1	drum	No Bid		
Clesens (Clesen Holdings LLC)	1	drum	No Bid		
Contract Specialty	1	drum	No Bid		
64 Plant Food Flo-Thru A+ Penetrant Bicark					
Supplier	QTY	UOM	Price		Supplier Notes
D & K Products (Century Homes Compar	30	gallon	\$56.00	\$1,680.00	
Van Diest Supply Company	30	gallon	No Bid		
Advanced Turf Solutions, Inc	30	gallon	No Bid		
Midwest Turf Support, LLC	30	gallon	No Bid		
REAMS Sprinkler Supply (Heritage Lands	30	gallon	No Bid		
SiteOne Landscape Supply	30	gallon	No Bid		
Clesens (Clesen Holdings LLC)	30	gallon	No Bid		
Contract Specialty	30	gallon	No Bid		
65 Plant Food Hydration A+ Plant Soil Hydr		-	nate Reduce		
Supplier	QTY	UOM	Price		Supplier Notes
D & K Products (Century Homes Compar	60	gallon	\$104.00	\$6,240.00	
Van Diest Supply Company	60	gallon	No Bid		
Advanced Turf Solutions, Inc	60	gallon	No Bid		
Midwest Turf Support, LLC	60	gallon	No Bid		
REAMS Sprinkler Supply (Heritage Lands	60	gallon	No Bid		
Clesens (Clesen Holdings LLC)	60	gallon	No Bid		
Contract Specialty	60	gallon	No Bid		
66 FERTILIZER					
67 25-5-15					
Supplier	QTY	UOM	Price		Supplier Notes
Van Diest Supply Company	475	bag	\$26.35	\$12,516.25	
C.D. Ford and Sons Inc.	475	bag	\$26.96	\$12,806.00	
D & K Products (Century Homes Compar		bag	\$27.45	\$13,038.75	
Clesens (Clesen Holdings LLC)	475	bag	No Bid		
Contract Specialty	475	bag	No Bid		
Advanced Turf Solutions, Inc	475	bag	No Bid		
Midwest Turf Support, LLC	475	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands	475	bag	No Bid		
SiteOne Landscape Supply	475	bag	No Bid		

Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compar	100	bag	\$32.50	\$3,250.00)
Van Diest Supply Company	100	bag	No Bid		
Advanced Turf Solutions, Inc	100	bag	No Bid		
Midwest Turf Support, LLC	100	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands)	100	bag	No Bid		
SiteOne Landscape Supply	100	bag	No Bid		
Clesens (Clesen Holdings LLC)	100	bag	No Bid		
Contract Specialty	100	bag	No Bid		
Anderson's AGC 24-4-12					
1.1	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compar	60	bag	\$31.40	\$1,884.00)
	60	bag	No Bid		
Advanced Turf Solutions, Inc	60	bag	No Bid		
Midwest Turf Support, LLC	60	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands)	60	bag	No Bid		
SiteOne Landscape Supply	60	bag	No Bid		
Clesens (Clesen Holdings LLC)	60	bag	No Bid		
Contract Specialty	60	bag	No Bid		
0-0-25 Plus HyCal Gypsum					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compar	10	bag	No Bid		
	10	bag	No Bid		
Advanced Turf Solutions, Inc	10	bag	No Bid		
Midwest Turf Support, LLC	10	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands	10	bag	No Bid		
SiteOne Landscape Supply	10	bag	No Bid		
Clesens (Clesen Holdings LLC)	10	bag	No Bid		
Contract Specialty	10	bag	No Bid		
CapHlex					
1 1	QTY	UOM	Price	Extended	Supplier Notes
	5	gallon	\$50.00	\$250.00)
REAMS Sprinkler Supply (Heritage Lands)	5	gallon	No Bid		
SiteOne Landscape Supply	5	gallon	No Bid		

Clesens (Clesen Holdings LLC)	5	gallon	No Bid			
Contract Specialty	5	gallon	No Bid			
D & K Products (Century Homes Compa	ar 5	gallon	No Bid			
Van Diest Supply Company	5	gallon	No Bid			
Advanced Turf Solutions, Inc	5	gallon	No Bid			
		O .				
72 Anderson 17-0-4						_
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Des	50
[ALT1] Clesens (Clesen Holdings LLC)	200	bag	\$26.94	\$5,388.00	17-0-4 25% PCSCU w/.15% Dim	Doesn't Meet Sp
[ALT1] C.D. Ford and Sons Inc.	200	bag	\$27.25	\$5,450.00	18-0-3 .15% Dimension	Doesn't Meet Sp
D & K Products (Century Homes Compa	ar 200	bag	\$28.70	\$5,740.00		
REAMS Sprinkler Supply (Heritage Land	sı 200	bag	\$30.76	\$6,152.00		
[ALT1] REAMS Sprinkler Supply (Heritage	g∈ 200	bag	\$30.76	\$6,152.00	BCA 19-0-3 .13 DITHIOPYR 30%	,
SiteOne Landscape Supply	200	bag	No Bid			
Van Diest Supply Company	200	bag	No Bid			
Advanced Turf Solutions, Inc	200	bag	No Bid			
Midwest Turf Support, LLC	200	bag	No Bid			
Contract Specialty	200	bag	No Bid			
, ,		5				
73 UFLEXX 46-00-00						_
Supplier	QTY	UOM	Price	Extended	Supplier Notes	
D & K Products (Century Homes Compa	ar 40	bag	\$30.40	\$1,216.00		
Van Diest Supply Company	40	bag	\$35.20	\$1,408.00		
C.D. Ford and Sons Inc.	40	bag	\$38.20	\$1,528.00		
Clesens (Clesen Holdings LLC)	40	bag	\$38.95	\$1,558.00	As Specified	
Contract Specialty	40	bag	No Bid			
Advanced Turf Solutions, Inc	40	bag	No Bid			
Midwest Turf Support, LLC	40	bag	No Bid			1
		.oug	5			
REAMS Sprinkler Supply (Heritage Land		•	No Bid			1
REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply		bag bag				
	sı 40	bag	No Bid			
	sı 40	bag	No Bid			
SiteOne Landscape Supply	sı 40	bag	No Bid	Extended	Supplier Notes / Alternate Des	
SiteOne Landscape Supply 74 21-0-4	SI 40 40 QTY	bag bag	No Bid No Bid	Extended \$6,885.50	Supplier Notes / Alternate Des	
SiteOne Landscape Supply 74 21-0-4 Supplier	SI 40 40 QTY	bag bag UOM	No Bid No Bid Price		Supplier Notes / Alternate Des	
 SiteOne Landscape Supply 74 21-0-4 Supplier D & K Products (Century Homes Company) 	235 si 40 40 QTY	bag bag UOM bag	No Bid No Bid Price \$29.30	\$6,885.50 \$7,134.60	Supplier Notes / Alternate Des 21-0-4 .2% Merit & 50% NS-54	
SiteOne Landscape Supply 74 21-0-4 Supplier D & K Products (Century Homes Compa	QTY ar 235 235	bag bag UOM bag bag	No Bid No Bid Price \$29.30 \$30.36	\$6,885.50 \$7,134.60 \$7,191.00		
SiteOne Landscape Supply 74 21-0-4 Supplier D & K Products (Century Homes Compa C.D. Ford and Sons Inc. [ALT1] Van Diest Supply Company	OTY 235 235 235	bag bag UOM bag bag bag	No Bid No Bid Price \$29.30 \$30.36 \$30.60	\$6,885.50 \$7,134.60 \$7,191.00	21-0-4 .2% Merit & 50% NS-54	

REAMS Sprinkler Supply (Heritage La	nds: 235	bag	No Bid			
SiteOne Landscape Supply	235	bag	No Bid			
Contract Specialty	235	bag	No Bid			
75 Earthworks 3-3-3 with Mycorizzhea						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	
D & K Products (Century Homes Com		bag	\$36.40	\$2,184.0	0	
Van Diest Supply Company	60	bag	No Bid			
Advanced Turf Solutions, Inc	60	bag	No Bid			
Midwest Turf Support, LLC	60	bag	No Bid			
REAMS Sprinkler Supply (Heritage La	nds: 60	bag	No Bid			
SiteOne Landscape Supply	60	bag	No Bid			
Clesens (Clesen Holdings LLC)	60	bag	No Bid			
Contract Specialty	60	bag	No Bid			
76 Foliar Pak 14-2-4						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	
SiteOne Landscape Supply	100	gallon	\$15.24	\$1,524.0	0 BRANDT Converge 18-3-6	Doesn't Meet Specs
Advanced Turf Solutions, Inc	100	gallon	\$31.96	\$3,196.0	0	
Midwest Turf Support, LLC	100	gallon	No Bid			
REAMS Sprinkler Supply (Heritage La	nds: 100	gallon	No Bid			
D & K Products (Century Homes Com	npar 100	gallon	No Bid			
Van Diest Supply Company	100	gallon	No Bid			
Clesens (Clesen Holdings LLC)	100	gallon	No Bid			
Contract Specialty	100	gallon	No Bid			
77 Nature Safe 8-3-5						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	\neg
D & K Products (Century Homes Com		bag	\$75.00	\$1,500.0		
Van Diest Supply Company	20 20	bag bag	No Bid	Ψ1,300.0		
Advanced Turf Solutions, Inc	20	bag	No Bid			
Midwest Turf Support, LLC	20	bag	No Bid			
REAMS Sprinkler Supply (Heritage La		bag	No Bid			
SiteOne Landscape Supply	20	bag	No Bid			
Clesens (Clesen Holdings LLC)	20	bag	No Bid			
Contract Specialty	20	•	No Bid			
соппаст эрестану	20	bag	INO DIU			
78 Glycofuse						⊣ –
Supplier	QTY	UOM	Price	Extended	Supplier Notes	

Midwest Turf Support, LLC	15	gallon	\$51.30	\$769.50	0	
REAMS Sprinkler Supply (Heritage Lan	ds: 15	gallon	No Bid			
SiteOne Landscape Supply	15	gallon	No Bid			
Clesens (Clesen Holdings LLC)	15	gallon	No Bid			
Contract Specialty	15	gallon	No Bid			
D & K Products (Century Homes Comp	oar 15	gallon	No Bid			
Van Diest Supply Company	15	gallon	No Bid			
Advanced Turf Solutions, Inc	15	gallon	No Bid			
79 Perkup						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	
Midwest Turf Support, LLC	10	gallon	\$93.00	\$930.0	O	
REAMS Sprinkler Supply (Heritage Lan	ds: 10	gallon	No Bid			
SiteOne Landscape Supply	10	gallon	No Bid			
Clesens (Clesen Holdings LLC)	10	gallon	No Bid			
Contract Specialty	10	gallon	No Bid			
D & K Products (Century Homes Comp	oar 10	gallon	No Bid			
Van Diest Supply Company	10	gallon	No Bid			
Advanced Turf Solutions, Inc	10	gallon	No Bid			
80 Floradox						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	
Supplier Midwest Turf Support, LLC	10	UOM gallon	Price \$99.00	Extended \$990.0		
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan	10		\$99.00 No Bid			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan SiteOne Landscape Supply	10	gallon gallon gallon	\$99.00			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan SiteOne Landscape Supply Clesens (Clesen Holdings LLC)	10 ds: 10 10 10	gallon gallon	\$99.00 No Bid No Bid No Bid			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty	10 ds: 10 10 10 10	gallon gallon gallon gallon gallon	\$99.00 No Bid No Bid No Bid No Bid			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Comp	10 ds: 10 10 10 10	gallon gallon gallon gallon	\$99.00 No Bid No Bid No Bid			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Components) Van Diest Supply Company	10 ds: 10 10 10 10	gallon gallon gallon gallon gallon gallon	\$99.00 No Bid No Bid No Bid No Bid			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Comp	10 ds: 10 10 10 10 oar 10	gallon gallon gallon gallon gallon gallon	\$99.00 No Bid No Bid No Bid No Bid No Bid			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compound Van Diest Supply Company Advanced Turf Solutions, Inc	10 ds 10 10 10 10 0ar 10 10	gallon gallon gallon gallon gallon gallon gallon	\$99.00 No Bid	\$990.0		
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compound Van Diest Supply Company Advanced Turf Solutions, Inc 81 32-00-16 Supplier	10 ds 10 10 10 10 oar 10 10 10	gallon gallon gallon gallon gallon gallon gallon	\$99.00 No Bid Price			
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Company Van Diest Supply Company Advanced Turf Solutions, Inc 81 32-00-16 Supplier D & K Products (Century Homes Company Company Homes Company	10 ds 10 10 10 10 oar 10 10 10	gallon gallon gallon gallon gallon gallon gallon	\$99.00 No Bid No Bid No Bid No Bid No Bid No Bid Price No Bid	\$990.0		
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Compound Van Diest Supply Company Advanced Turf Solutions, Inc 81 32-00-16 Supplier D & K Products (Century Homes Compound Van Diest Supply Company	10 ds 10 10 10 10 oar 10 10 10	gallon gallon gallon gallon gallon gallon gallon	\$99.00 No Bid	\$990.0		
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Company Van Diest Supply Company Advanced Turf Solutions, Inc 81 32-00-16 Supplier D & K Products (Century Homes Company Van Diest Supply Company Van Diest Supply Company Van Diest Supply Company Advanced Turf Solutions, Inc	10 ds 10 10 10 10 oar 10 10 10 OTY oar 10 10	gallon gallon gallon gallon gallon gallon gallon gallon gullon gullon	\$99.00 No Bid	\$990.0		
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Company Van Diest Supply Company Advanced Turf Solutions, Inc 81 32-00-16 Supplier D & K Products (Century Homes Company Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC	10 ds 10 10 10 10 oar 10 10 2TY oar 10 10 10	gallon gallon gallon gallon gallon gallon gallon gallon dallon gallon gallon	\$99.00 No Bid	\$990.0		
Supplier Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty D & K Products (Century Homes Company Van Diest Supply Company Advanced Turf Solutions, Inc 81 32-00-16 Supplier D & K Products (Century Homes Company Van Diest Supply Company Van Diest Supply Company Van Diest Supply Company Advanced Turf Solutions, Inc	10 ds 10 10 10 10 oar 10 10 2TY oar 10 10 10	gallon gallon gallon gallon gallon gallon gallon gallon UOM bag bag	\$99.00 No Bid	\$990.0		

Clesens (Clesen Holdings LLC)	10	bag	No Bid		
Contract Specialty	10	bag	No Bid		
82 18-4-24					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
C.D. Ford and Sons Inc.	20	bag	\$36.86	\$737.20	
Clesens (Clesen Holdings LLC)	20	bag	No Bid		
Contract Specialty	20	bag	No Bid		
D & K Products (Century Homes Compar	20	bag	No Bid		
Van Diest Supply Company	20	bag	No Bid		
Advanced Turf Solutions, Inc	20	bag	No Bid		
Midwest Turf Support, LLC	20	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands	20	bag	No Bid		
SiteOne Landscape Supply	20	bag	No Bid		
83 Gro-Power 0-0-15 High K Plus Calcium	0.71				
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compar		bag	No Bid		
Van Diest Supply Company	70	bag	No Bid		
Advanced Turf Solutions, Inc	70	bag	No Bid		
Midwest Turf Support, LLC	70	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands	70	bag	No Bid		
SiteOne Landscape Supply	70	bag	No Bid		
Clesens (Clesen Holdings LLC)	70	bag	No Bid		
Contract Specialty	70	bag	No Bid		
84 Gro-Power 8-8-8 Greens Grade	OT) (11014	D 1	F	0 11 N 1
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compar		bag	No Bid		
Van Diest Supply Company	40	bag	No Bid		
Advanced Turf Solutions, Inc	40	bag	No Bid		
Midwest Turf Support, LLC	40	bag	No Bid		
REAMS Sprinkler Supply (Heritage Lands		bag	No Bid		
SiteOne Landscape Supply	40	bag	No Bid		
Clesens (Clesen Holdings LLC)	40	bag	No Bid		
Contract Specialty	40	bag	No Bid		
85 Rusty's 2-0-1 Plant Food					
Supplier	QTY	UOM	Price	Extended	Supplier Notes

D & K Products (Century Homes Comp	ar 10	gallon	\$165.20	\$1,652.0	0	
Van Diest Supply Company	10	gallon	No Bid			
Advanced Turf Solutions, Inc	10	gallon	No Bid			
Midwest Turf Support, LLC	10	gallon	No Bid			
REAMS Sprinkler Supply (Heritage Lan	ds: 10	gallon	No Bid			
SiteOne Landscape Supply	10	gallon	No Bid			
Clesens (Clesen Holdings LLC)	10	gallon	No Bid			
Contract Specialty	10	gallon	No Bid			
86 18-3-4 Plant Food						
Supplier	QTY	UOM	Price	Extended	Supplier Notes	
D & K Products (Century Homes Comp	ar 15	gallon	\$37.60	\$564.0	0	
Van Diest Supply Company	15	gallon	No Bid			
Advanced Turf Solutions, Inc	15	gallon	No Bid			
Midwest Turf Support, LLC	15	gallon	No Bid			
REAMS Sprinkler Supply (Heritage Lan	ds: 15	gallon	No Bid			
SiteOne Landscape Supply	15	gallon	No Bid			
Clesens (Clesen Holdings LLC)	15	gallon	No Bid			
Contract Specialty	15	gallon	No Bid			
87 Plant Food 12 iron						
87 Plant Food 12 iron Supplier	QTY	UOM	Price	Extended	Supplier Notes	
•		UOM gallon	Price \$28.50	Extended \$712.5		
Supplier						
Supplier D & K Products (Century Homes Comp	ar 25	gallon	\$28.50			
Supplier D & K Products (Century Homes Comp Van Diest Supply Company	ar 25 25	gallon gallon	\$28.50 No Bid			
Supplier D & K Products (Century Homes Comp Van Diest Supply Company Advanced Turf Solutions, Inc	ear 25 25 25 25 25	gallon gallon gallon	\$28.50 No Bid No Bid			
Supplier D & K Products (Century Homes Comp Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC	ear 25 25 25 25 25	gallon gallon gallon gallon	\$28.50 No Bid No Bid No Bid			
Supplier D & K Products (Century Homes Comp Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan	ar 25 25 25 25 25 ds: 25	gallon gallon gallon gallon gallon	\$28.50 No Bid No Bid No Bid No Bid			
Supplier D & K Products (Century Homes Compound Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Lan SiteOne Landscape Supply	var 25 25 25 25 25 ds: 25	gallon gallon gallon gallon gallon gallon	\$28.50 No Bid No Bid No Bid No Bid No Bid			
Supplier D & K Products (Century Homes Composer Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty 88 Plant Food 4-20-22	ear 25 25 25 25 25 ds: 25 25	gallon gallon gallon gallon gallon gallon	\$28.50 No Bid No Bid No Bid No Bid No Bid			
Supplier D & K Products (Century Homes Composer Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty	ear 25 25 25 25 25 ds: 25 25	gallon gallon gallon gallon gallon gallon	\$28.50 No Bid No Bid No Bid No Bid No Bid			
Supplier D & K Products (Century Homes Composer Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty 88 Plant Food 4-20-22	ear 25 25 25 25 ds: 25 25 25 25	gallon gallon gallon gallon gallon gallon gallon	\$28.50 No Bid No Bid No Bid No Bid No Bid No Bid	\$712.5i	Supplier Notes	
Supplier D & K Products (Century Homes Composite Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage LansiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty 88 Plant Food 4-20-22 Supplier	ear 25 25 25 25 ds: 25 25 25 25	gallon gallon gallon gallon gallon gallon gallon	\$28.50 No Bid Price	\$712.5	Supplier Notes	
Supplier D & K Products (Century Homes Composed Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty 88 Plant Food 4-20-22 Supplier D & K Products (Century Homes Composed Supplier)	ear 25 25 25 25 ds: 25 25 25 25 25	gallon gallon gallon gallon gallon gallon gallon gallon dallon	\$28.50 No Bid Price \$48.90	\$712.5	Supplier Notes	
Supplier D & K Products (Century Homes Composed Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage Land SiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty 88 Plant Food 4-20-22 Supplier D & K Products (Century Homes Composed Van Diest Supply Company	25 25 25 25 ds 25 25 25 25 27 QTY	gallon	\$28.50 No Bid Price \$48.90 No Bid	\$712.5	Supplier Notes	
Supplier D & K Products (Century Homes Composer Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC REAMS Sprinkler Supply (Heritage LansiteOne Landscape Supply Clesens (Clesen Holdings LLC) Contract Specialty 88 Plant Food 4-20-22 Supplier D & K Products (Century Homes Composer Van Diest Supply Company Advanced Turf Solutions, Inc	25 25 25 25 25 25 25 25 27 27 27 27 25 25	gallon	\$28.50 No Bid Price \$48.90 No Bid No Bid	\$712.5	Supplier Notes	

Clesens (Clesen Holdings LLC)	25	gallon	No Bid		
Contract Specialty	25	gallon	No Bid		
89 Plant Food Kelplant 1-0-1					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compa	15	gallon	\$101.80	\$509.00	
Van Diest Supply Company	5	gallon	No Bid		
Advanced Turf Solutions, Inc	5	gallon	No Bid		
Midwest Turf Support, LLC	5	gallon	No Bid		
REAMS Sprinkler Supply (Heritage Lands	5.5	gallon	No Bid		
SiteOne Landscape Supply	5	gallon	No Bid		
Clesens (Clesen Holdings LLC)	5	gallon	No Bid		
Contract Specialty	5	gallon	No Bid		
90 Plant Food Adams Earth Biostimulant					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compa		gallon	\$79.50	\$1,590.00	oappilei Notes
Van Diest Supply Company	20	gallon	No Bid	ψ 1 γ ο 7 ο 1 ο ο	
Advanced Turf Solutions, Inc	20	gallon	No Bid		
Midwest Turf Support, LLC	20	gallon	No Bid		
REAMS Sprinkler Supply (Heritage Lands		gallon	No Bid		
SiteOne Landscape Supply	20	gallon	No Bid		
Clesens (Clesen Holdings LLC)	20	gallon	No Bid		
Contract Specialty	20	gallon	No Bid		
		0			
91 Plant Food Green-T Micro Mix Glucoher	otonate	Chelate			
Supplier	QTY	UOM	Price	Extended	Supplier Notes
D & K Products (Century Homes Compa	25	gallon	\$47.70	\$1,192.50	
Van Diest Supply Company	25	gallon	No Bid		
Advanced Turf Solutions, Inc	25	gallon	No Bid		
Midwest Turf Support, LLC	25	gallon	No Bid		
REAMS Sprinkler Supply (Heritage Lands	25	gallon	No Bid		
SiteOne Landscape Supply	25	gallon	No Bid		
Clesens (Clesen Holdings LLC)	25	gallon	No Bid		
Contract Specialty	25	gallon	No Bid		
92 Floratine Defense Man					
	QTY	UOM	Price	Extended	Supplier Notes
Supplier Midwest Turf Support, LLC	1	pail	\$576.00	\$576.00	anhhiiri iyotez
wildwest full support, LLC		Pall	Ψ370.00	\$570.00	

	REAMS Sprinkler Supply (Heritage Lands	1	pail	No Bid			
	SiteOne Landscape Supply	1	pail	No Bid			
	Clesens (Clesen Holdings LLC)	1	pail	No Bid			
	Contract Specialty	1	pail	No Bid			
	D & K Products (Century Homes Compar	1	pail	No Bid			
	Van Diest Supply Company	1	pail	No Bid			
	Advanced Turf Solutions, Inc	1	pail	No Bid			
93	SEEDS						
94	Kentucky Bluegrass/Rye Grass Seed 70/3						
	Supplier	QTY	UOM	Price		Supplier Notes / Alternate Desc	
	[ALT1] Clesens (Clesen Holdings LLC)	1700	lb	\$3.29		Kentucky Bluegrass/Rye Grass S	
	[ALT1] C.D. Ford and Sons Inc.	1700	lb	\$3.70		29.66% Mercury KBG 85%Germ	
	United Seeds Inc.	1700	lb	\$3.95	\$6,715.00	Certified Blue Tag. Cultivars in N	
	Contract Specialty	1700	lb	No Bid			
	D & K Products (Century Homes Compar	1700	lb	No Bid			
	Van Diest Supply Company	1700	lb	No Bid			
	Advanced Turf Solutions, Inc	1700	lb	No Bid			
	Midwest Turf Support, LLC	1700	lb	No Bid			
	REAMS Sprinkler Supply (Heritage Lands	1700	lb	No Bid			
	SiteOne Landscape Supply	1700	lb	No Bid			
95	Kentucky Blugrass						Doesn't Meeting Specs
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc	
	[ALT1] C.D. Ford and Sons Inc.	350	lb	\$3.95	\$1,382.50	5 Way Kentucky Bluegrass29.66	
	_United Seeds Inc.	350	lb	\$4.35	\$1,522.50	Certified Blue Tag. Cultivars in B	
	Clesens (Clesen Holdings LLC)	350	lb	No Bid			
	Contract Specialty	350	lb	No Bid			
	D & K Products (Century Homes Compar	350	lb	No Bid			
	Van Diest Supply Company	350	lb	No Bid			
	Advanced Turf Solutions, Inc	350	lb	No Bid			
	Midwest Turf Support, LLC	350	lb	No Bid			
	REAMS Sprinkler Supply (Heritage Lands	350	lb	No Bid			
	SiteOne Landscape Supply	350	lb	No Bid			
96	Super Turf II						
	Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc	

[ALT1] C.D. Ford and Sons Inc.	850	lb	\$2.50	\$2,125.00	Ford and Sons Special Purpose5
United Seeds Inc.	850	lb	\$2.85	\$2,422.50	Certified Blue Tag. Cultivars in N
Clesens (Clesen Holdings LLC)	850	lb	No Bid		·
Contract Specialty	850	lb	No Bid		
D & K Products (Century Homes Comp	ar 850	lb	No Bid		
Van Diest Supply Company	850	lb	No Bid		
Advanced Turf Solutions, Inc	850	lb	No Bid		
Midwest Turf Support, LLC	850	lb	No Bid		
REAMS Sprinkler Supply (Heritage Lan	ds: 850	lb	No Bid		
SiteOne Landscape Supply	850	lb	No Bid		
97 Snap Back Tall Fescue					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
Clesens (Clesen Holdings LLC)	300	lb	\$1.94		100% Tall Fescue-34% Zig Zag Tl
United Seeds Inc.	300	lb	\$2.75	\$825.00	
Contract Specialty	300	lb	No Bid		
D & K Products (Century Homes Comp	ar 300	lb	No Bid		
Van Diest Supply Company	300	lb	No Bid		
Advanced Turf Solutions, Inc	300	lb	No Bid		
Midwest Turf Support, LLC	300	lb	No Bid		
REAMS Sprinkler Supply (Heritage Lan	ds: 300	lb	No Bid		
SiteOne Landscape Supply	300	lb	No Bid		
98 T1 Bentgrass					
Supplier	QTY	UOM	Price	Extended	Supplier Notes / Alternate Desc
United Seeds Inc.	25	lb	\$11.25	\$281.25	
D & K Products (Century Homes Comp	ar 25	lb	\$11.75	\$293.75	
[ALT1] Clesens (Clesen Holdings LLC)	25	lb	\$12.74	\$318.50	Pure Distinction
SiteOne Landscape Supply	25	lb	\$13.60	\$340.00	
Contract Specialty	25	lb	No Bid		
Van Diest Supply Company	25	lb	No Bid		
Advanced Turf Solutions, Inc	25	lb	No Bid		
Midwest Turf Support, LLC	25	lb	No Bid		
REAMS Sprinkler Supply (Heritage Lan	ds: 25	lb	No Bid		
99 Supershade					
Supplier	QTY	UOM	Price	Extended	Supplier Notes
					• •
United Seeds Inc.	100	lb	\$3.75	\$375.00	

						<u>-</u>
	Contract Specialty	100	lb	No Bid		
	D & K Products (Century Homes Compar	100	lb	No Bid		
	Van Diest Supply Company	100	lb	No Bid		
	Advanced Turf Solutions, Inc	100	lb	No Bid		
	Midwest Turf Support, LLC	100	lb	No Bid		
	REAMS Sprinkler Supply (Heritage Lands	100	lb	No Bid		
	SiteOne Landscape Supply	100	lb	No Bid		
100	Rescue Plus					
	Supplier	QTY	UOM	Price	Extended	Supplier Notes
	United Seeds Inc.	100	lb	\$2.85	\$285.00	
					,	
	Clesens (Clesen Holdings LLC)	100	lb	No Bid	, = 0 0 1 0 0	
	Clesens (Clesen Holdings LLC) Contract Specialty	100 100	lb lb	No Bid No Bid	, , ,	
	. ,	100				
	Contract Specialty	100	lb	No Bid	, 200	
	Contract Specialty D & K Products (Century Homes Compar	100 100	lb lb	No Bid No Bid	,	
	Contract Specialty D & K Products (Century Homes Compar Van Diest Supply Company	100 100 100	lb lb lb	No Bid No Bid No Bid		
	Contract Specialty D & K Products (Century Homes Compar Van Diest Supply Company Advanced Turf Solutions, Inc	100 100 100 100 100	lb lb lb	No Bid No Bid No Bid No Bid		
	Contract Specialty D & K Products (Century Homes Compar Van Diest Supply Company Advanced Turf Solutions, Inc Midwest Turf Support, LLC	100 100 100 100 100	lb lb lb lb	No Bid No Bid No Bid No Bid No Bid		